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There are a total of 6 problems in this exam.

AQ)

1. (12%) For the circuit shown in Fig. 1, the switch is

P
>

closed at 7 = 0. Solve for the current through the

) . §V—— 12¥
inductor ir(f) for t > 0. B
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2. The circuit shown in Fig. 2(a) can be represented by the Norton equivalent circuit in Fig. 2 (b).

i)  Determine the phasors Iy and Zy (10%)

ii) A load Z; is connected to the circuit. For maximum average power transfer, find the

average power transferred and Z;. (8%)
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3. (12%) The op-amp circuit shown in Fig. 3 has a transfer function
T(s) = Vour(5) __s+100
V., (s) s+20
Design the values for C, R; and R; to realize the above transfer function.
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4, For the circuit shown in Fig. 4
i) Determine the resistance R which makes the transient response critical dampmg (8%)
ii) For an input (Vi) of 0 at £ <0 and 10¢’ St at ¢ > 0, determine the total response of Vou(?)

with a given R = 5.2 Q. (14%)
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5. (20%) The switch in the circuit shown in Fig. 5 has stayed at position a for a long time. At =0,
the switch is moved to position 4. Determine the current ir(f) fort>0..
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6. (16%) The circuit shown in Fig. 6 has a current source of i,() =15cos(2t+45°). Determine

the voltage V(7).
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